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I.  Analysis of association between mp7’ and »wn n"
a. Extended 87772 D771y MAwyn ,mpy
i. mp. for pp WYN — (RN»127 RN mentioned P YN first since he loves 13277 D2avn)
1. Our N2 omitted 2wyn, since p is less obvious, being 11277
2. Language: of Xn»1 is plural
a. 2 types: vegetables — bundled and unbundled;
b. 2 types: of 7wyn — animal and grain
b.  Purpose: of marking year-turn:
i. Vegetables: collected one year may not be tithed for those of other year
1. Years 1-2 & 4-5: have »v 1wyn; years 3 & 6 have 1y 1wyn in its stead
2. Source: for 3 year having no »w 1wyn
a. ovl: qwynis singular —no w"yn (vv. 2 & 3 guarantee 1"yn every year)
ii. 07772 (in 8177773): if he vows abstinence from his fellow’s possessions for “this year”
1. Then: he is bound until »7n n"™
2. Evenif:1day isn’t considered a year — here, he generated the desired result (tension)
3. Follows »1¥1 n”1. since 0111 always follow colloquial use (1wn n” = “mwn WR1”)
II. Tangential discussion re: measuring 1/3 growth for purposes of m wyn
a. mnbr7's year: is defined by point at which it develops seeds
b.  Grain: at one-third
i. Source: v4 (mao of 8% year still considered nvnw)
1. In other words: anything that grew to 1/3 maturity during nvonw
a. Isstill: treated as 2w M9 during 8™ year
2. v5: mMvis called “harvest season” — meaning “time of reaping” —
a. Standard: anything reaped by ma1o grew to at least 1/3 maturity by »wn n”
b.  Per: general standards of 01w which have arbitrary limites which are defined
c.  Retreat: rabbis can tell exact point of 1/3 as per proof from ayn 127p brought (by
implication) in n YW (vv. 7-8) and, as per v9, YR’ IR is able to speed up
process so that it grows from 1/3 to complete in 5 days
ii.  A22217 1. rejects read of q*or=reaping, as per v10
1. Rather: proof of 9w from v11
a. 2" verse (19): teaches that there will be 3 years of grain
b. 2w wiws(N2): is used to teach V5w
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